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1. Solve the inequality 16 — 3x < 10. Graph the solution set.

In set notation, the solution is {xl b. (Type an inequality.)

Graph the solution set. Choose the correct graph below.
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2. Find the following for the function f(x) = 4x2 +4x-4.

(a) f(0) (b) f(1) (c) f(-1) (d) f(—x)
(e) —f(x) () fix+1) (9) f(3x) (h) f(x + h)

@fo)=/ | (Simplify your answer.)
(b) f(1) = R ' (Simplify your answer.)
©f(-1= | (Simplify your answer)
(d) f(—x)= r [ (Simplify your answer.)
(e) -fx) =/ | (Simplify your answer.)
@ fx+1)=[ | (Simplify your answer.)

(9) f(3x) = | (Simplify your answer.)
(h) f(x +h) =| (Simplify your answer.)

Answers -4
4
-4
4x° - 4x- 4
—4x% -4x+4
-2
4x" +12x+4

2

36x" +12x—-4

4x? + 8hx + 4h2 + 4x + 4h - 4

ID: 1.1.43
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3. Find the domain of the function.

f(x) = 1/ 5x-25
The domain is | | (Type your answer in interval notation.)

Answer: [5,00)
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4. Forthe given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

,i - > &
I S AR+ JK) = C’ ~
f(x)=5x+9; g(x)=9x-2 /
. / VT )
(a) Find (f+g)(x). (S)’)(”/_: ) —/—;’/;7;(( da) a
) ¢ ] — -
(f+g)(x)= (Simplify your answer.) S )(:/ ;{X,_f.__,7 “*‘:-u‘ ( %/ /)/ )

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete | your
choice.

H) — 50
(A Thedomainis {x] }. ( A1 (') — (G~ f)

(Use integers or fractions for any numbers in the expression. Use a comma toseparate N
answers as needed.) X & = - " \
) B. The domain is {x| x is any real number}. — )

—Y¢ X — (
(b) Find (f- g)(x). C__ 1 )< /
(f-g)x)= (Simplify your answer.)

What is the domain of f— g? Select the correct choice below and, if necessary, fill in the answer box to compfete your

choice. ( _.)f‘}(:i(;l

() A. The domain is {x } /’)(’) @ / ()"
(Use integers or fractions for any ‘numbers in the expressmn Use a comma to separate
answers as needed.) )( . )( c/?’( - Z )

() B. The domain is {x| X is any real number}. C( =7 2 /0 5 5 é?‘ )< —/ a,
(c) Find (f = g)(x). = : —_— X ==
CHsx© +U Xx—7-7

(feg)x) = (Simplify your answer.

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

) A. The domain is {x } ; )’3(/

(Use integers or fractions for any numbers in the expressron Use a commato separate . . o
G 0w

answers as needed.) 7//’(} ZL/L
(1 B. The domain is {x| x is any real number}. /Z/( 0" =&
7&

f
(d) Find | — | (x). s - |
(QJ gf- 7 \.a\‘/é/ C/:/ " g
—Z K
[ ](x)-—(&mpllfy your ARSWBR— G — j

,/r;‘
; \\)H’?G&h {‘F ﬁ/ X

What is the domain of — g —7? Select the correct choice below and, if necessary, fi il the answer box to complete your choice.
Fra)C) = 19X+ 7

./ A The domain is {x }

(Use integers or fractions for any numbers in the, expression. Use a comma to separate

answers as needed.) f)/(}) /Y/ 3 . 7
) B. The domain is {x| x is any real numbery}.
[xieam Veg) (3) = C2r)

/49/(3) 5/ [

(e) Find (f+ g)(3).

/
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(F+9)(3)= (Type an integer or a simplified fraction.) (/( 9 = —Extel [
() Find (- 9)(2). (/ /(L} = =)t
(f-g)2)= (Type an integer or a simplified fractlon) {,_’7) /LL gt ( E/
(9) Find (f+ g)(4). / ~ 9 /( 2) = f:} =~
(F-g)(4) = ' (Type an integer or a simplified fraction.)

(/}54) a/w + 7 X~ §

C })(%) 4g(4r) + ()~ ¥
{E](1)= | (Type an |ntegerora5|mpll edfra 2:)@ Cfs(‘()(‘/) *7, (V/ /5
Answers 14x +7 j/(k( — 5 ({(,) = o 7 ((f) //Y
B. The domain is {x| x is any real number}. ’y/ (‘(yuo "f" Zg‘fw""/g

- 4x+11 - )(C() o Xg

B. The domain is {x| x is any real numbgr}. (

] f
(h) Find [ 9 } ).

45x° +71x - 18 / S/)(/fq
B. The domain is {x| x is any real number}. (J,_*)/X/
5x+9 Z

e //ﬁ/) [/) < S:(_Q_iz
AThedomainis{x|. x;aeE 1} ¢ 7(’) ~ -

(Use integers or fractions for any numbers in the expressron Use a comma to separate answers as needed.)
49 i i |

g {) =
3 ( ( G— -

986 , /(/
2 ( ’{)( )= 7
e
ID: 1.1.67 é%‘\) ”‘-3/_:

: f(x + h) f(x)
Find the difference quotient of f; that is, find ———, h# 0, for the following function. Be sure to simplify.

f(x) = x° = 8x+7 ((’Vf/) ?()/'f/’)f7),—(/( _.,()(f /)

ten 0 A )ih) g7 X IAT

h
Answer: 2x+h -8 )(—(—//(L\—-f//(t\_( 4 2 "g)( ”‘fﬁv ”/] PS( _fi - 7 -

4
ID: 1.1.83
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6. Determine whether the graph on the right is that of a function by using the vertical-line

test. If it is, use the graph to find the following.

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

Does the graph represent a function‘?rChoose the correct answer below.

O A. _Yes,_ the gréph_is_t-.i_fuhcﬁon because every vertical line intersects the graph in more than one

point.

B. No, the graph is not a function because a vertical line x = - 2 intersects the graph at only one
point.

!/é( Yes, the graph is a function because every vemcal line intersects the graph in at most one D
_point. - - — -

D. No, the graph is not a function because a vertical line x = — 2 intersects the graph at two
points.

(a) What are the domain and range of the function? Select the correct choice below and, if necessary, fill in the answer

box(es) to complete your choice. (/ ,i{/ i’l)[ #) ) (}Du![f() 71”/ (]Uﬂ)

P — -
&A. The’domatpls (" / 17 ) The\rangels (”_ f-'?/‘:"; ‘:f' ) &

(Type your answers in interval notation. Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

//_/ -.'_I_.'-':-- - ‘I - . p /_//) C,t_, (74

(Type an ordefed pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not that of a function.

(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.

A. The graph is symmetric with respect to the origin.

B. The graph is symmetric with respect to the y-axis.
[1€C. The graph is symmetnc with respect to the x-axis.
eD. L]‘he graph has no symmetry. ‘

[] E. The graph is not that of a function.

9/6/2019, 11:47 AM
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Answers C. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (=3,0) . Therange is (=00,4)

(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)
A. The intercept(s) is/are (=-1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19

6 of 27 9/6/2019, 11:47 AM



finalm1314COC026sulllljjRZZ06-Alfredo Alvarez hittps://xlitemprod.pearsoncmg.com/api/v1/print/math

7. Using the given graph of the function f, find the following.
Ay

) )
(b) its domain and range L) j' ((7! ( o) J L
(c) the intervals on which it is increasing, decreasing, or constant ( 5;
(d) whether it is even, odd, or neither . F . i X‘;

= 4 2 2 4
b (49 Yo,

-

(a) the intercepts, if any

¥

(A~

(a) What are the ntercegt_s.}"?j N

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

(b) Theda;rﬂ;j?iis =7, 3‘} E (< £ (} Visht

(Type yolr answer in interval notation.)

Thlé@?lr;g;|s _&47 = by o™,

(Type your answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

= % = I '__. - ’
“TA. The graph iscﬁcreasiﬁh on (.__,Z; CJ ; [ / ) Sj
(Type your ariswern interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice.

(%A. The graph is@q(gasing on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on .
= (Type your answer in interval notation. Use a comma to separate answers as needed.)

“_‘-’E;_ “The graph is not constant on any interval.; >

(d) The function is (1)

e R
(1) (> neither odd nor even.

even.
odd.

7 of 27 9/6/2019, 11:47 AM
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Answers (- 2,0),(1,0),(0,1)
[-3.3]
[0,2]

A. The graph is increasing on [—2,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, - 2},[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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8. The function f is defined as follows.

-2x+5 ifx<1
f(x) =
4x -1 ifx=1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

@) The(mjm;m of the function f is ( o0, po ) & @/C ) AL _ )

(Type your-ariswer in interval notation.)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The@a:c;z;&:'s] is/are . /O/ 5) E&— “*/ -—/d/-#,: ca;yjn{—

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(d) Thfg;gfthe function f is Z % Z’) é"’_ b(,f—/_sm ) ']_O,ﬂj

(Type your-answer in interval notation.)

Answers (= 00,00)
A. The intercept(s) is/are (0,5)

(Type an ordered pair. Use a comma to separate answers as needed.) (lrf S (’

_ LA Aowss > Gve )//-, |
L/ o =42\ Lo fentior

/(f-}%c}( e Jd_ \

[3,00) 7 —W] ) < _,_,/O /JJ

ID: 1.4.33 *7/ /44<X - /J) / ,,
\ § |

!
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9. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F(=1f(q) +2 (b) G(x) =f(x +2) (c) P(x) = —1(x)

1
(d) Hix) =f(x + 1) = 1 (e) Q) = 5 f(x) (M g(x)=f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) =f(x) + 2 below. -~

A. O B.

(b) Choose the correct graph of G(x) = f(x + 2) below:

<A

(d) Choose the correct graph of H(x) =f(x + 1) = 1 below.”

e

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

10 of 27 9/6/2019, 11:47 AM
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Answers

ID: 1.5.63
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10.

(a) Graph f(x) = |x + 5| - 3 using transformations. Ay

(b) Find the area of the region bounded by f and the x-axis o

that lies below the x-axis. 3

(a) Graph f(x). %

(Use the graphing tool provided to graph the function.) "“_
2..

(b) The area of the region bounded by f and the x-axis that ] .

lies below the x-axis is | | square units. TR A T o

(Simplify your answer.) 10 8 4 =2 2‘ £ A 2 W
i

Answers

L!r‘d-;-fj {

)(/ | ) (;r,'g} 0) |

ID: 1.5.81
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11. Find the@f the quadratic function usTg the- square root melhnd \h.lhat are the x-intercepts of the graph of the
function? ((( J ]TQ' (‘ " W 1 W | K f..\

2
X)=(x-1)"-36 4
Select the correct choice below an flll in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) )(’( - .—i— (7

https://xlitemprod.pearsoncmg.com/api/v1/print/math

y A. The zeros and the x-intercepts are the same. They are / { — 6
L St L
The zeros and the x ntercepts are different. The zeros are , the x-intercepts

B. are - /( .-F/ - ~("f’/ O/” ,(-(*f__] :_ G ‘('/

-.,

= o (X=7> o

Answer: A. The zeros and the xTﬁferce;?fé are the same. They are 7 5 )

ID: 2.3.29

e N = ———— =
12. Find the zeros,)f any, of th quadratlc func Uon‘uelng e quadratlc formula \What are the x-intercepts, if any, of the graph
of the hﬂaﬁ?
o ’ /(
S r,{\ - A ,( —+ & X 2 Ytws

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

f(x)= 8x2 -3+4x

A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

B.
are

C. There is no real zero solution and no x-intercept.

—1+ﬁ —1-«/7 //
4 ' 4 i /

ID: 2.3.47 ./

Answer: A. The zeros and the x-intercepts are the same. They are
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J‘.f. .‘ \
7 :
* For the quadratic function f(x) = x” — 2x - 8, answer parts (a) 3. :
through (c). A

16~

(a) Graph the quadratic function by determining whether its | :,
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any. 8
Does the graph of f open up or down? ]
] X
down 20 18 42 & 4 1 4 & 12 16 20
g.—

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractions for any 16
numbers in the expression.) ]

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(O) B. There are no x-intercepts.
What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

(O A. The y-intercept is
(Type an integer or a decimal.)

(> B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis ]
(Type your answer in interval notation.)

The range of fis I
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

16 of 27 9/6/2019, 11:47 AM
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Answers up
(1.-9)
x=1

A. The x-intercepi(s) is/are 4,-2
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is | -8 _:.(Type an integer or a decimal.)

AY

6

)(;-er’f‘of:?/ éz/ v)
P P2 A A

[1.00)
(= 00,1]

ID: 2.4.37
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14. Determine, Without graphing, whethe tﬁé’@iv‘?’&ﬂ‘auratrcﬁﬁgtion hag a maximum yalue or a minimum value and then find
the value. S /{.u/{ /‘J'f(’nml du W Suo__pd- us
%) :

o S A
f(x) = - 3x> +6x -9 / Q __3'\/ Z’jfém‘\’(* A @

Does the quadratic function f have a minimum va!ue ora maxlmum value%

() The function f has a maximum value. V":"-L‘ & = "m )
.2( -5 Z(-'S)

() The function f has a minimum value. L{
Ve,
What is this minimum or maximum value? ( 'f_ /( j)
[/ ee\a, = ( 3 /?, ))
'(Simplify your answer.) V s Lf = . 6C)) =9 /’
«=(], ; (= +6c

-2/

Answers The function fhas i{maxlm value.

/ (1D -+ 41
L‘( (} -3 +6-1/

ID: 2.4.59 [/ e/ L‘X" ( ) =——G)

-6

&

™ \_'...:Ju__.g‘“\ — - -
15. Use the réttoné_ | zeros theorem f tgﬁnd all ream;olynomlal function. Use the zeros to factor f over the real

numbers. )(. L____ S f j A
f)=x° -x° - 37x- 35 %K, 1/( -.-’ &3(7\\4)(1&3&7)41'{ A /L2 =

Kl N Sy
chmce balow and, if necessary, fill in the answer box to complete yo

i S} 38 ¢ r25/t], L T

Find the real zeros of f. Sele

(:! A. X= "( - G)jr/? l'“} 7
(Simplify your answer. Type an exact answer, %Ing rad|cals S neede Use integers or

fractions for any rational numbers in'the expressgion. Use a. mma to separate answers as ;1 1 .
needed.) Th—

[/
() B. There are no real zeros. — -
| >( ~IX =33 "6 &kﬁv“/
Use the real zeros to factor f. Q<~ e @&__7 ) — (O ——y

o=

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.)

e +s=0 OK /<"’7-? O ‘
Answers A.x= -5, -1,7 A/—(:S"-—-ﬁ""__ 0—S C}( /("’7"[‘"? & o /

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as nesdéd.) L

(x+1)(x + 5)(x~7) - Oy Jde / = 7

ID: 3.2.45 _;____?T b Shwir L//
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16. Find th@af élzantal a@que ééymptotes{ if any, for the following rational function.

11x
R(X)=x+16

Select the correct choice below and fill in any answer boxes within your choice.

A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

¢ 1 B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

¢ B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

) B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -16 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 11 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

osas M= L

& —'Tlt— I }
AR /( ’f/ « =V S //u(m,«c - \“‘*\(
/.U//L.a"l -

/L/.m(

|
/
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17. For f(x) = 4x + 7 and g(x) = 2x, find the following composite functions and state the domain of each.

20 of 27

(a) fog (b) gof (c) fof (d) gog

(@) fog)) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A

() B.

The domain offogis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o g is all real numbers.

(b) (g o H)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A

() B.

The domain ofgofis {x | )

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o fis all real numbers.

(c) (fof)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

() A.

() B.

The domain of fo fis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of f o fis all real numbers.

(d) (@og)(x) = . (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

(A,

) B.

The domain of g o giis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The domain of g o g is all real numbers.

Answers 8x +7

B. The domain of f o g is all real numbers.
8x+14

B. The domain of g o fis all real numbers.
16x + 35

B. The domain of f o f is all real numbers.
4x

B. The domain of g o g is all real numbers.

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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The function f(x) = 5x — 1 is one-to-one.

(a) Find the inverse of f and check the answer.

(b) Find the domain and the range of f and f 1.

(c) Graph f, f~ L , and y = x on the same coordinate axes.

-1
@f =
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

b) Find the domain of f. Select the correct choice below and, if
(

necessary, fill in the answer box to complete your choice.

) A The domain is {x|x= }.
" B. The domain is {x[x#
2 €. The domain is {x|x2
) D. The domain is the set of all real
numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

3.
¢ 3
b

The range is the set of all real numbers.

The range is {y|y 2
The range is {yly <
The range is {y|y #

o 0o w »

Find the domain of f 1. Select the correét choice below and, if

71

T Hil‘. T .:)]J
O Al

,71/ - S—{(
\,) z $X— (

;< I N A ( |
5’7 7( “1£ r

Lot
duA fo ‘j

-
p

/'.-

(\

necessary, fill in the answer box to complete your choice. )("’f / a8 S"‘ L
L7 A The domain is {x|x # }. { —~—-u,7
() B. The domain is {x|x2 . ~ { . X?
"/ €. The domain is {x|x s }. S/
D. The domain is the set of all real f
numbers. )[ € M

Find the range of f~ 1 . Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. Therangeis {y|y2 }
B. Therangeis {y|y #
C. Therangeis {y|ys 4

D. The range is the set of all real numbers.

(c) Graphf f_ ', and y = x on the same coordinate axes. Us:' !
the graphing tool to graph the functions.

1 (R
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X+1
Answers
5
D. The domain is the set of all real numbers. /i' ; e RPN )

D. The range is the set of all real numbers. _
D. The domain is the set of all real numbers: 6

D. The range is the set of all real numbérs. //

R

\-.‘_______

-2 =X N ==l

19. Solve the equation. ZL) X+T /[ $I1X = :
e 5 — v -, B = o

47X¥ 20 230X /? - 2 T M

The solution set is {'_ } {

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

—IX t ¥ 5%
Answer: 6 2/ .

—U XS = S
=} (_zf;%_:/)d_i_ S~ | -
—lx = Sy —% UL

ID: 4.2.53

ID: 4.3.73
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20. Solve the equation. ( é? X 3} V

log 5(8x +3) =4 | \___r D ; |
7 Lo
Change the given logarithmic equation to exponential form. 2 - i/("f g
(Type an equation. Do not simplify.) ,71 ’Zl‘ Z Z = i A~ ;
The solution set is / b= i X~ 3

(Simplify your answer. Use a comma to separate answers as needed.) }( + / 3

) 4 /6 =5~
NSWers gy 4+ 3 =2 /j = //<

B
8 )r—
L2-T

ID: 4.4.91-Setup & Solve
21. Solve the logarithmic equation. LU%”()/X*Z /) Z € bsri [&
[

2
log x+ log (x+21)=2 /O L’_ )(()(—F“/ J )

Determine the equation to be solved after removing the Ioganthm

/00 = x’ —t21X
(Type an equation. Do not simplify.) O )( ”fZ /)< — uJ

Select the correct choice below and, if necessary ﬁII in the anszr ) brg( to complet your choice.

Y-4=0 o X+l =zo
(' A. The solution set is { Yy XA 0T On ;(-fg r=frEi=¢ 1T
(Simplify your answer. Type an exact answer. Use a comma to separate answersas —
needed.) C/lLU{C (J {”’ & Fe ' W

(1 B. There is no solution.

/uc(ff) f(vm~ C Lo (~/3)7ch (F5421)< ¢
Answersx(x+21)=10 d)(";f/ —-f’(/(}) (’(, s/ — L (/U "‘ZS”) , =5 (_/) l—»

7 A
A. The solution(é]etc:é'{(f 4 }‘ (Md(/( Qg/] D Cm

. é (Slmpl;y your answer. Type an exact answer. Use a comma to si?arate answers as needed.)” ﬁMer
f / i
Pl (CLos ) f)/d/ 9 (48] > > ¥=
D:4.6.17- Setup & Solve
—_— = A
22. F|nd the amount that results from the given investment. ﬂ' }/’(l’f K) P . 6‘0‘)
(60,0 invested Qﬁ% mmpauude@uarterlyaﬂera perio of 2 years “ e ) rye 6%=.06
After 2 years, the investment results in $ 4 (00 /[ ¢ (/6) A2 = ., Ze//
(Round to the nearest cent as needed.) 6 ( = >/€c .

Answer: 675.90 / ~ 600 ( (~f ¢ Q.Qr/) 4

Az 600 ([~ aOC/y)A g w7
ﬁf FGssit -j/)/“
250f2% &Aﬂ: 6 73:}_29 L/b//zdm

ID: 4.7.7
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23. How long does it take for an mvestmentt double tn value if it is mvestec@ﬂ% oompounded uarterly" Compounded

(\contmuousiy" Zwﬁ/(/u ([,_r_ p 0) / 2ou = /()u (i)

4 -—--"—;"""
At 10% compounded quarterly, the investment doubles in about l‘ years, /7 oo

: A~ [N
(Round to two decimal places as needed.) ““k - 2 ’/,_L—"
©

At 10% compounded continuously, the investment doubles /n about years - €

(Round to two decm:}al ﬁlices as ne?;!ed ¥ ) /}? 7 U - if é,& (/T y /‘7 (Z/ /é’ vﬁ/—"" i

o (({,ﬁq(/# /\;’) [912_‘('.,9/\)

Answers 7.02 _2 ({, 5_:_ - .,'-
6.93 &"(2) Qh({"‘t f-.))‘f /Gvﬂ/;? 7,5—X63/ ’/}:{’(){)

(=
(2)% $ehnl (4412) Zoz—u.f /jwz)
\ ID: 4.7.35 —,u
"}'ET':?_:'Zi’;_‘H&:—D;:F-"m A S e e = _— q 3’ 471706 = {,_ Jed
'\ 24. How many years will it take for an initial mvestmen\o; $10 000)0 grow/o $25,000 ? JAssume a rate mtere(f 15%

[ ﬁ:ompounded continuously. "w ﬁﬁ/ j_) /Zl' / /J’“tf)
!. It will take about e investment to grdw to $2i%)% (2 5.) - ‘/r{ ,ﬁ,.'/é/

R (Round to two decimal places as needed.) /f(

2svuy =/0wwC / A(2a5)= /5€(1/ // E
Answer: 6.11 * /r( v =
25U /Qﬁﬂlu ( /é( f) /r(/-// \

FGon = )
ID: 4.7.41 z(igf; /%(/ a(ojéd‘{iﬁ =€\ % 4 !‘ )
% Lc,Lm\‘]_! .

25. . If the sys has no solution, say that it is inconsistent. /y/(’l 56
mut] Gy —19 = / o X~ 5
£ ragqd 7.2 Wl

/O ’”5’6

B (% :
. ’W
Select the correct choice below and, if necessary, fill in any answer boxes within you ice. /( = 7

"1 A. The solution of the system is x = andy= ; \y w b 2‘/’/

(Type an integers or simplified fractions.) g{ —
) B. There are infinitely many solutions. Using ordered pairs, the solution can be wfi en as /(’_ Z 7 e /‘-')

{xy)ix= ., yany real number}. alndl =0 =y =
(Simplify your answer. Type an expression using y as the variable as needed.) ({ (Y } Z/ e =
() C. The system is inconsistent. /()"‘ Z/L — 7 =

Answer: A. The solution of the systemisx= 4  andy= {( Z/ Ffé 'i /u’f/ {

(Type an integers or simplified fractlons )

ID: 6.1.33

26 of 27 .. 9/6/2019, 11:47 AM



finalm1314COC026sulllljjRZZ06-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

26. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

X=-3y+4z= 17
2+ y+ z= 6
-2x+3y—-3z=-16

Select the correct choice below and fill in any answer boxes within your choice.

' A. The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)
() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{xyz2)|x= o y= , z any real number}.
(Simplify your answers. Type expressmns usmg 'z as the variable as needed. )

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{xy.z2) | x= .y any real number, z any real number}. 'l
(Simplify your answer. Type an expression using y and zas the variables as needed.) ( ( i /
() D. The system is inconsistent.

ot glefrey €25

Answer: A,
The solution is x = 2 Ly= -1 yandz= 3
fractions.)
F i N _\\'_"j,_h\H—u—-f”-‘F\K'\-._.f—"#_\\
ID: 6.1.45

Z/L/Q /Wpémx (’(// /7[
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